
qm=;+= sfo{qmd 7]ufgf ah]6 ? xhf/df

1 cjn u'tf{ v]Td l;pgL xF'b} d'8\s]r'nf k=df= 5000

2 hgHof]lt df=lj= k||fljlws l8Knf]df sfo{qmd ;+rfng g=kf= & 3000
3 sflnsf k|f=lj= ul5{gf g=kf= ^ 2000
4 eof/ b]jtfsf] dlGb/ lgdf{0f g=kf= % 500
5 ;fd''bflos :jf:Yo OsfO{ :yfkgf tyf ;+rfng cg'bfg :o"gf g=kf= !# 400

6 s[ifL ;8s 7f/f vfnf, P]/f/L, ul5{{gf g=kf= % 3000
7 s[ifL ;8s 3f]u]t/L,/L7f s'zf g=kf= @ 1000
8

nfut ;xeflutfdf s[lif ;xsf/L dfkm{t dx pTkfbg kj4{g sfo{qmd g=kf= $ 700
9 dx k|zf]wg s]Gb| tyf lgdf{0f ;+rfng sfo{qmd 5000
10 dfx'/L t/sf/L kmnkm"n 5000
11 clgtf afv|f kmfd{ dfkm{t nfut ;xeflutfdf afv|f kfng k|j4{g 

sfo{qmd 300

12 sfnLdf6L,vfnrf}/,g]6Ln]v ul5{gf nlj;f ;8s, k"j{ ;DefJotf 
cWoog, lj:t[t kl/of]hgf k|ltj]bg -l8=lk=cf/=_ tof/ u/L lgdf{{0f 
ul/g] /0flglts ;8s 10000

13  /fovf]nf / nfldrf}/ hf]8\g] emf=]k'= ;=c= g=kf= !! 25
14 dfemvf]nf emf]]=k'= g=kf= ( 25
15 uf8]vf]nf 8fF8fufpF 6«i6 lj|h ;=c= g=kf= @,$ 25
16 vftLu'tf{ cjn e]/LgbL t6aGwg of]hgf g=kf= !# 25
17 l;df t6aGwg lgd{f0f ;=c= 25
18 cf}nu''tf{ t6aGwg lgdf{0f of]]hgf g=kf= !@ 25
19 bfl/dkf6f tfqfuf/ x'Fb} tfdftf/f l;++rfO{ of]hgf lgdf{0f g=kf= ( 1500
20 e]u'g],n'kfgf, xnrf}/, dGd} l;rfO{ of]hgf lgdf{0f g=kf= * 3000
21 7'nfau/ lnˆ6 l;rfO{ ;=c= g=kf= !! 25
22 7'nfau/ l;rfO{ ;=c= 25
23 bfl/dkf6f, tfqfuf/, tfdftf/f vfg]kfgL of]hgf g=kf= ( 3500
24 gxs'nL d'xfg j[xt 8f8fFufpF vfg]kfgL of]hgf g=kf= @ 2500
25 sfF8fbNnL, akm]nufpF vfg]kfgL of]hgf ;=c= g=kf= & 25
26 /fjtufpF, Wof/ufpF vfg]kfgL of]hgf ;=c= g=kf= !) 25
27 tfqf vfg]kfgL of]hgf g=kf= ( 25
28 emf+u] x'Fb} vfldu vfg]kfgL of]hgf, af9L , klx/f] k|efljt If]q vfg]kfgL 

of]hgf ;=c= g=kf= (,@,#,$ 25

pBf]u, ko{6g jg tyf jftfj/0f dGqfno

gnuf8 gu/kflnsf

gu/sfo{kflnsfsf] sfof{no 
bNnL, hfh/sf]6

s0ff{nL k|b]z, g]kfn

cfly{s jif{ @)&%.&^ sf] jflif{s ljsf; ah]6 -s0f{fnL k|b]z, k|b]z ;/sf/ dfkm{t_

;fdflhs ljsf; dGqfno

e"ld Joj:yf s[ifL tyf ;xsf/L dGqfno

ef}lts k"jf{wf/ dGqfno



29 lr;fkfgL uf/sdb vfg]kfgL of]hgf ;=c= g=kf= * 25

1
k~rf;] ax'p4]lzo ;xsf/L ;++:yfsf] s[lif pkh ;+sng s]Gb|sf] ef}lts 
k"jf{wf/ lgdf{0f gnuf8 g=kf= % 1500

2 hfh/sf]6 8f]Nkf ;8s v08sf] gnuf8 g=kf= sflndf6L ;8s g=kf= % 1000
3 cfgfkfgL, sNkt, kfnL, l/Dgf ;8s v08 g=kf= ! 2000
4 tfqfuf8 b]lv tfq 3/+uf ;8s g=kf= ( 2500
5 g]=/f= k|f=lj= rfjn]rf}/ ejg lgdf{0f g=kf= # 1300

:yflgo k"jf{wf/ ljsf; ;fem]bf/L sfo{qmd cGtu{t 5gf}6 ePsf cfof]hgfx? 


